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6.34=6+0.3+0.04

9.31 = |+ |+ |
@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01




@ (1)4.4 (2)3.33 @ (1)4.40 (2)3.330
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@D 2.403 > 3.216
® 5.643 < 5.634

® 9.051 > 9.208

@ 13.154 > 13.298

@)5.21 > 5.204

B

@ 2.403 < 3.216
@ 13.154 < 13.298
® 5.643 > 5.634
® 9.051 < 9.208
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@® 0.36 + 0.58 @ 0.52+ 047

@ 0.327 + 0.49 ® 0.8+0.15

@ 0.73+04

@ 0.94 ® 099 ® 1.13 @ 0.817 ® 0.95




(1) 6.004 - 5.15

(2) 17.457 — 4.163

@ (1) 0.841 (2) 13.284
® (1) 0.851 (2) 13.284

® (1) 0.854 (2) 13.284

@ (1) 0.844 (2) 13.294
@(1) 0.854 (2) 13.294

(1) 6.004 — 5.15 = 0.854

(2) 17.457 — 4.163 = 13.294
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@ 0.42-0.18 =0.24
© 0.16 +0.18 = 0.34
© 0.63 -0.35 = 0.28




15.

F ALgsfo] 44

Al A2

E’rgiﬂr FL A7t 4 FS A
S W= YT ©HE F e FollA 2754 Bt 22 e
El:r 7H 3l 7~1 AL
» A
> F=e: 570

B
Fatere s . Oes

Q%] 242 SAE Polsie] 2.754 e} 2L 5

— 2.457 , 2475 , 2.547 , 2.574 , 2.745
w4 5 Aol

= L=
TE BT

e
rr




16.

ohe 42 Mol 4 ©2 @t duht o A

\VARR 4
0x
iy
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2o L2 3 71o] A7)= 0.1 10585 A & shto]|B & 0.01

@ 5.2+ 0.01 4+ 0.01 = 5.22
© 5.4+0.01+0.0140.01+0.014-0.0140.01+0.014+-0.01 = 5.48
O©-0@=548-5.22=0.26

@ =522, ©O=5.48
O- @=5.48 — 5.22 = 0.26




17. ofd fo]A 3.251 & wijof & A& H5sto] gy 16.09 7t =3
SUYt} B2 AlAsHH duprt =l=2] AL5HAl L.

>

[> =EH: 9588

+3.251 = 16.09
= 16.09 — 3.251 = 12.839
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oL A Q] 712 Zol= 0.6 mol L, A2 Zol=0.3m YUt o]
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(M=ZL 712 Zo])= 0.6 — 0.24 = 0.36( m)
M= A= 4 ]) 0.3+ 0.34 = 0.64(m)
(M= 5ol A 9] 8] Aol)
= 0.36 + 0.36 + 0.64 + 0.64 = 2(m)




